FRHICH T2 ERBAREATRER (TR - SEMREXF - RABEXF]

HIE B B E 5 R 8 7E B KiE  [BEE (uSv/h)
Er266 4R 1B (K) |[BEHTHEF 10:00 AL 0.053
28 OK) |&=ET#E AT 10:00 BEh 0.053
48 (£) | RBKREXM 10:00 £ 0.060
8 (R |[#EAH&EE 10:00 BEh 0. 056
9H (K) |E=ETHRE X 10:00 BN 0.060
1B (&) |[EA#KREXA 10:00 BEh 0. 060
148 (R) |#IH&E 10:00 BN 0.050
168 (0K |==ET#EXF 10:00 BEn 0. 060
188 (&) |EA#KEXA 10:00 BN 0.060
218 (R) |©FHdH&eEr 10:00 = 0.053
238 0K) |&E=ET#HEXAT 10:00 EL 0. 060
258 (&) |RAKAEXFR HMBEAUTFUR
288 (RA) |FARTh#%Fr 10:00 =) 0.050
0B (K) |S=ETHREXMT 10:00 [55] 0. 060
FR26F 58 2B (£) |RAKREXAR 10:00 EL 0. 060
1B 0K |&=RET#HEXRAT 10:00 i g 0. 060
98 (&) |RBKREXM 10:00 EL 0. 060
128 (A) |F#H&ET 10:00 = 0.053
148 (OK) |E=ETHREXF 10:00 EL 0. 060
168 (&) |[RBHKEXM 10:00 i g 0. 060
198  (R) |F#EIBH&EFR 10:00 EiL 0. 050
218 0K) |&=ET#E XA 10:00 [55] 0. 060
238 (&) |RAKEXAR 10:00 EiL 0. 060
268 (B) [{FE W& 10:00 i g 0. 060
288 (OK) |&E=ET#E XA 10:00 EiL 0. 060
308 (&) |RAKAEXFR 10:00 i g 0. 060
Fri2666 68 2B (A) |RAKREXAR 10:00 EiL 0. 050
48 (OK) |=RET#E XX 10:00 B 0. 057
68 (£) | RBKREXM 10:00 ==/ 0.060
98 (R) |RBmEFR HEAUTFUR
118 0K) |&=ETHREX HEAVTFUR
138 (&) |EA#KEXA 10:00 BN 0. 056
168 (R) |FEAH&EFER 10:00 EiL 0.053
188 (K |=E=ET#E X 10:00 = 0.057
208 (&) |RAKEXA 10:00 EiL 0. 060
238 (RB) [1F@mE 10:00 BN 0.053
258 (OK) |&E=ET#E XA 10:00 EiL 0.053
218 (&) |ROHBEXA 10:00 BN 0.060
308 (A) @AW 10:00 =4 0.053
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2662 TR 2B (K |E=EETREXFT 10:00 AL 0. 060
48 (&) |RAHREXR 10:00 = 0. 060
1H (B) |FMH&ET 10:00 [55] 0.053
9H (K) |==ETHRE XA 10:00 & 0.050
118 (&) |EA#KREXA 10:00 £ 0.060
148 (A) |F#m&Er 10:00 = 0.043
168  (OK) |==ET#EXZ 10:00 BN 0.063
188 (&) |EAHKREXA 10:00 £ 0. 060
238 OK) |E=ET#EX 10:00 =4 0.067
258 (&) |RAKREXA 10:00 BEh 0.053
288  (RA) |FARTh#%Fr 10:00 EL 0.053
0B  (K) |S=ETHREXMT 10:00 Eh 0.053

FR26F 8H 1B (£) |RAKREXAR 10:00 EiL 0.053
48  (R) |BAH&FET 10:00 =4 0.053
68 (OK) |E=EET#HE AT 10:00 EL 0. 057
8H (£) |EAHREXM 10:00 = 0. 050
1ne (R |[FPmEr 10:00 =) 0.053
138 (OK) |S=ET#HREXF 10:00 Eh 0. 060
158 (&) |RAKEXA 10:00 =) 0.053
188 (R) |#EAH&ET 10:00 i g 0.040
208 (OK) |&E=ET#HEXAT 10:00 EiL 0.053
228 (&) |RAKAEXFR 10:00 i g 0. 060
258 (R) |FARTh#%Pr 10:00 =4 0. 046
218 OK) |S=ET#E XA 10:00 = 0. 057
298 (&) |RAKEXAR 10:00 EiL 0. 050

ER265E 98 1H (B) |FAH&ET 10:00 [55] 0. 050
38 (K) |E=ETHRE XA 10:00 & 0.047
bH (£) |EAHREXM 10:00 = 0. 050
88 (RA) |FEAH&EF 10:00 =4 0.043
108 0K) |==ET#EX 10:00 EAL 0.053
128 (&) |EAKREXA 10:00 EiL 0. 050
168 () |[FEBHEER HEAUTFUR
178 OK) |&=ET# & 10:00 EiL 0. 057
198 (&) |EA#HREX 10:00 BN 0.050
228 (B) |[1FEmEF 10:00 EiL 0.043
248 (OK) |S=ET#E XA 10:00 = 0.060
268 (&) |RAKEXAR 10:00 EiL 0.053
298 (RB) [1F@ W& 10:00 BN 0. 046
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F26 108 1B (K) |E=EETREXF 10:00 AL 0. 057
3B () |EAKREXAT 10:00 BEh 0. 060
6H (B) |FMH&ET 10:00 BN 0. 046
88  (K) |==ET#HEZAT 10:00 BEh 0. 060
108 (&) |EA#KREXR 10:00 BN 0.050
148 () |[BEIH&EET 10:00 BEh 0. 046
158  (OK) |E=ETHRE&X T 10:00 =4 0.053
178 (&) |EA#KREXAT 10:00 BEh 0. 057
208 (A) [{F@ W& 10:00 £ 0. 046
228  (K) |S=ET#HREXT 10:00 = 0.050
2480 (&) |RAKAEXFR 10:00 EL 0. 060
2718 (B) [1PFE W& 10:00 i g 0. 050
298 (OK) |&E=ET#HEXAT 10:00 EiL 0.053
318 (&) |RAKEXFR MBEAUTFUR
ER26F 118 48 (K) |[FEHHEH 10:00 EL 0. 040
5H (K) |==ETHREXA 10:00 = 0. 060
B (&) |[EAKREXM 10:00 EL 0. 050
108  (A) |F#m&Er 10:00 = 0.046
128 (0K |E=ETHREXA 10:00 = 0.050
148 (&) |[RBHKEXM EAUTFUR
178 (R) |FPmEe 10:00 =4 0. 046
198 (0K |S=ET#RE3%Z 10:00 Eh 0. 057
218 (&) |RAKEXAR 10:00 EiL 0. 060
258 () |1FIRTERET 10:00 [55] 0. 050
268 (K) |S=ETHEXAT 10:00 [55] 0.067
28 (&) |RAKREXA 10:00 i3 0.046
26 128 18 (B) |[1BEHm&F 10:00 =4 0. 046
3B 0K |==RETHE XA 10:00 B 0.053
5H (£) | RBKREXM 10:00 ==/ 0.060
8H (B) [P ET 10:00 BN 0. 046
108 (OK) |==ETHE&XF 10:00 EiL 0. 050
128 (&) |EA#KREXA 10:00 BN 0.053
158 (R) |#EIBH&EFER 10:00 EiL 0. 046
178 0K) |E=ET#RE X 10:00 58] 0.050
198 () |EAKREXM 10:00 & 0.050
228 (A) |3 ThZFr HEAUTFUR
248 (K) |&E=ET#E XA HEAVTFUR
268 (&) |RAKAEXFR HEAUTFUR
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27 1R 58 (B) |BBHE 10:00 AL 0.063
B 0K |&=ET#HEAT 10:00 BEh 0.053
98 (&) |RBKEXM 10:00 AL 0. 050
138 () |EIH&EET 10:00 BEh 0. 050
148 (OK) |==ET#E X 10:00 BN 0.050
168 (&) |[EA#KREXAT 10:00 BEh 0. 050
198 (R) |#EIH&E 10:00 £ 0.053
218 (K) |S=ET#HEXT 10:00 = 0.053
238 (®) |RoHBEXA 10:00 BN 0.050
268 (B) 1FEmEF 10:00 BEh 0. 066
288 (OK) |&E=ET#REXFT 10:00 & 0.063
308 (&) |RAKREXA 10:00 ES 0.053
271 2R 28 (B) |BEHHER 11:00 EiL 0.040
48 (K) |BRETHREXZF MBEAUTFUR
68 (&) |[RAKEXM HB/AUTFUR
o (R) |#AH&Fr 10:00 i g 0. 050
138 (&) |RAHKEXA 10:30 EL 0.040
168 (R) |[#EIH&ET 10:00 i g 0. 053
188 (K |E=ETHREXA 10:50 = 0.063
208 (&) |RAKAEXFR 11:00 i g 0.043
238 (R) |FARTh#&PFr 11:00 =4 0. 060
258  (OK) |S=ET#E XA 11:50 Eh 0. 060
218 (&) |RAKEXFR 10:30 EiL 0. 050
21 3R 28 (B) |[{FHTH&R 10:00 i g 0. 060
48 OK) |E=EETHREXFT 11:50 EiL 0. 060
6H (£) |EAHREXM 10:30 = 0. 050
98 (R) |RPmEe 10:00 ES 0. 066
118 0K |S=ETRE3XZ 10:00 Eh 0.053
138 (&) |RAKBREXM 10:30 ==/ 0.050
168 (R) |#EIH&E 11:00 = 0.060
188 (K) |==ETH & 11:30 =4 0. 060
208 (&) |RoHBEXA 10:30 BN 0.053
238 (B) |[1FE W 10:00 EiL 0. 060
258  (K) |E=ET#EXAT 11:00 EAL 0. 056
2718 (&) |RAKEXA 10:30 EiL 0. 060
308 (A) [1FEmE 10:00 BN 0.060




